
�

�

�������	
��


��������������������������������� ��������������������������������������������
���������
�������
�����
��
��
����

������� ����!
����������������
���"�

�
�����

#�������$��%���&�'�!�(������

�

�

�

GROWS�Inc.�Landfill�

�
� �

�

� �

� ��
������ ��)&*�+&�*)�%�,�

� ����-���. /0�*1+

�

� %


�-���0�2)&*�+&�*)�%�,3���2*1+))���%4�%�,4���3�4�2,)�$����3�0���&5*)���%4$��

� %


�-���.��� �2��&5

�

�

�

�

�

�

�

/���������6����� ����������$����44!!!1����
���
���%


1���4%��


��4���7��7������1�����

� ����44!!!1� ��1���4

�

�

	

	

���

8��

���

���

�$


9�

������
�� ))���%4�%�,4����

�����0 *)���%4$�3�0�1,645�Nm3/h�

�! 
���%


:���:��!��1$���

Appendix�D:�Sample�Redesign�Calculations�

	���%


�-����
�!�����0�5&;)��'�+4$�



�

�

�;�����	
��


��������������������������������� ��������������������������������������������
���������
�������
�����
��
��
����

������� ����!
����������������
���"�

�
�����

#�������$��%���&�'�!�(������

NL�

�
Natural�Gas:

Engine:�Jenbacher�JMS�620�GS��

�
� '�����
�-���<�
�����
�!�����0�=)��'�+4$��

� ���
�	�!���>���
���<�
���0�?1��@6$4'�+�

� #
����
��
�#%%
�
�����0�)+1*A�

� B$����
�#%%
�
�����0�),1=A�

A�

51;A�


�!�����0�5+1;;�'�+4$��

�����0�),�°C�

� B���
�#%%
�
�����0���1=

#�$�����-������>��0�)�

� #�$�����-���<�
�����

� ��

�	����#�$�����-���B������

� Steam�Generated�Pressure�=�125�psig�
Steam�Total�Heat�=�1,193�(Btu/lb)�

4

�
� Combustion�Air�Volume�Flowrate�=�13.01�'�+ $��

� � >���6�����<�
�����
�!�����0�5,?1=��+4$

�

�

�

�

�

�  ���#
����
��
�C������0�2=)��'�+4$�3���2?1��@6$4'�+3���2*1)+3�0�3,043�kW�
 ���B$����
�C������0�2=)��'�+4$�3���2?1��@6$4'�+3���2*1),=3�0�3,022�kW�
������-������
���0�2+&**,�@63���2+&)5,�"��4$�4@63�4�255?+�"��4
�3���2*1)5;3�

� �0�3572�lb/hr

�
�
�

-����
�!�����0�=)��'�

Air�Flowrate�=�

+4$��

13.01�'�+4$��

#
����
��
�C������0�+&*)+�@6�

B$����
�C������0�+&*,,�@6�

��0�+�=,�
�4$��������-������
�
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#�������$��%���&�'�!�(������

Lan

Engine:�Jenbacher�JMS�620�GS��BL�

�
dfill�Gas:�

� 	���%


�-���<�
�����
�!�����0�5&,)5�'�

�@6$4'�

+4$��

�);=°C�

�kW�
,743�kW�

;3�

���-����� ��0�2,&=5)�@63���2+&)5,�"��4$4@63�4�255?+�"��4
�3���2*1)5;3�

� � �0�3,229�lb/hr�

� ���
�	�!���>���
���<�
���0��

�

+�

� #
����
��
�#%%
�
�����0�+?1,A

A�� B$����
�#%%
�
�����0�))1,

� B���
�#%%
�
�����0��+1)A�

� #�$�����-������>��0�)51;A�
+� #�$�����-���<�
�����
�!�����0�551=��'� 4$��

����0�  ��
�����������#�$�����-���B�������

� Steam�Generated�Pressure�=�125�psig�
� Steam�Total�Heat�=�1,193�Btu/lb�
� Combustion�Air�Volume�Flowrate�=�10.85�'�

����<�
�����
�!�����0�=�1���

+4$��

� >���6� +4$� 

r�
�

Summe�

�  ���#
����
��
�C������0�25&,)5�'�+4$3���2��@6$4'�+3���2*1+?,3�0�2,433
� 3

�
 ���B$����
�C������0�25&,)5�'�+4$3���2��@6$4'�+ ���2*1)),3�0�2
��������%��
�����-���0�25&;)��'�+4$3�D�25&,)5�'�+4$3�0�404�Nm3/hr�

���-������
���0�2,&=)+�@63���2+&)5,�"��4$4@63�4�255?+�"��4
�3���2*1)5

���0�3264�lb/hr�
�
�E�����0�2 �@6$4'�

�  ������

� �

�  
���� ,&)*=�@63�4�2�

�  
��B$ ��

�  
����� �
�

+3�4�2*1+?,3�0�1,228�Nm3/hr�
����
�C��� �0�25&,,��'�+4$3���2��@6$4'�+3���2*1)),3�0�2,714�kW�

- �

A
����
�!�����0�5&,)5 �

ir�Flowrate�=�10.85�'
��'�+4$

�+4$��

#
����
��
�C������0�,&)++�@6�

B$����
�C������0�,&=)+�@6�

������-������
���0�+,;)�
�4$��
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������� ����!
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���"�

�
�����

#�������$��%���&�'�!�(������

Eng t.)�

2*1+?,3�0�946�Nm3/hr�
'�+3���2*1)),3�0�2,092kW�

&)5,�"��4$4@63�4�255?+�"��4
�3���2*1)5;3�

,3�0�935�Nm3/hr�
���2*1)),3�0�2,066�kW�

3�4�255?+�"��4
�3���2*1)5;3�

ine:�Jenbacher�JMS�620�GS��BL�(con

�
�

� Winter�
4�2��@6$4'

�

�  ������
�E�����0�25&����@63�

'

?

�+3�4�

�@6$4�  ���B$����
�C������0�2?);�

2,&*

8

+4$3���2�

,�@63���2+�  ���������-������
���0�

� � ���0�24 9�lb/hr�
�  
�����
�E�����0�25&�+,�@63�4�2��@6$4'�+3�4�2*1+?

�  
��B$����
�C������0�2?+��'�+4$3���2��@6$4'�+3

�  
��������-������
���0�2,&*;;�@63���2+&)5,�"��4$4@6

�� � ��0�2458�lb/hr
�

-�

Air
���
�!�����0�5&,)5��'�+4$��

�Flowrate�=�10.85�'�+4$��

#
����
��
�C������0�,&)++�@6�

B$����
�C������0�,&=)+�@6�

������-������
���0�+,;)�
�4$��
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������� ����!
����������������
���"�

�
�����

#�������$��%���&�'�!�(������

+&�,�� "��4$�3�4�2+&5*+� "��4$�3�0�1.14�

� Cooling�
� ���

�	����������

Absorption�Chiller/Heater:�Carrier�16NK�

�
�
� ����
�:#%%���������������
����

������
���0�5*+)�@6�0�,?)�B����0�+&�,�&***�"��4$��� ���

��

� �$


���6�����<�
�����
�!�����0�))1)�	4��0�551=���
4��

°F� ���
���6�����B�����������0�)� �

� ���
���6�����<�
�����
�!�����0�=)1,�	4��0�5&5=;�����

�������
���0�55�*�@�4$�0�,;*5�
�4$��

�E�����0�2,&;*5 �Btu/lb3�0�3,103�MBtu/hr�
�C������0�3,528 Btu/hr�

� �������

�

#����� �
�4$��3���21,193
#����� �M
�C.�0�2

�

�

�
�

�

�

� #��
���������.��������0�3,264�lb/hr�
� �$


�����������������
���0�2,601�lb/hr�
� #������������0�2+,;)�
�4$�3�D�2,;*5�
�4$�3�0�663�lb/hr��
� .���
�
�	�����������

� #��
���������.��������0�3,229�lb/hr�
� �$


�����������������
���0�2601�lb/hr�
� .��@���������������
��0�2,601�lb/hr�
� #������������0�2+,;)�
�4$�3�D�2,;*5�
�4$�3�0�628�lb/hr�

������E�

#������E�����0

�

�

���0�,&;*5�
�4$��

�+&5*+� "��4$��

�$


���6������
�!�����0�551=���
4�

���

��������
���0�+&�,��

>���
��������
���0�+&5*+� "��4$��
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#�������$��%���&�'�!�(������

(Even�at�the�minimum�demand�there�is�still�enough�steam�to�meet�the�
g�load,�therefore�a�standby�centrifugal�chiller�is�not�maximum�coolin

needed.)�
� �

� Heating��
�  
�
����	�����������

� #��
���������.��������0�2458�lb/hr�
� �����������
���0�2,)���
�4$�3���21,193�Btu/lb3�0�2,932�MBtu/hr�
� .��@�>���
����������0�1,239�MBtu/hr�
� #�����������������
���0�2,&?+,� "��4$�3�D�25&,+?� "��4$�3�0�1693�MBtu/hr�

�the�minimum�electrical�demand�there�is�still�enough�steam�to�
�maximum�heating�load,�therefore�a�standby�gas�fired�boiler�is�
ed.)�

�

(Even�at
meet�the
not�need

�

� �
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������� ����!
����������������
���"�

�
�����

#�������$��%���&�'�!�(������

�

�

�
�

.��@����

���0�==������

.��@�>���
���0�++=� "��4$��

� .��@�����
��0�,?&)==��%��

� .��@��������0�,)&=;5��%��

� .��@�C���
����
��0�5;A�

� B���
�����
��.��������0�,1*�
��$���

� �����������
��.��������0�*1��
��$���

� �

� Step�1:�Casing�Size�
� .��@�>���
���0�++=� "��4$��%����B��
��-�:5�Casing�2�
����
������
�

� Step�2:�Supply�and�Exhaust�Fan�
� .��@�����
��0�,?&)==��%������#������
�����
��.��������0�,1*�
��$���

� ��supply�fan�at�25�bhp�and�1043�rpm�
����
������
� .��@��������0�,)&=;5��%�����������������
��.��������0�*1��
��$���
� ���exhaust�fan�at�10��bhp�and�750�rpm�
����
������
�

� Step�3:�Hot�Water�Heating�System�
� ����
������>����0�2,���$����,1�3�0�70�Mbtu/hr�
� ����
������B������������
���0�=*&***�"���4�251*�����,?&)==��%�3�0�2.19°F�
� Mixed�Air�Temperature�=�70°F�+�(0.16)(0°F���70°F)�=�58.8°F�
� Total�Winter�Heating�Load�=�++=� "��4$��:�,*1+� ���4$��0�316.7�Mbtu/hr�
� Steam�Needed�=�(316,700�Btu/hr)�/�21,193�Btu/lb3�0�265.5�lb/hr�
� Steam�Remaining�=�(,)���
�4$�3�D�2,;�1��
�4$�3�0�2192.5�lb/hr�

Rooftop�Unit�A1:�TRANE�Rooftop�Unit�

�
�
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��������������������������������� ��������������������������������������������
���������
�������
�����
��
��
����

������� ����!
����������������
���"�

�
�����

#�������$��%���&�'�!�(������

� 6�����	��8
���B�����������0�F2?,)&***�"��4$�3�4�2�**3�4�2�,?)����3G�H�)�°F�=�51°F�
� �TL�=�90°F���51°F�=�39°F�
� �TS�=�55°F���45°F�=�10°F�
� LMTD�=�21.3°F�(From�LMTD�Table)�
� Capacity�=�232,000�Btu/hr/row�(Coil�selection�chart)�
� Rows�=�(?,)&***�"��4$�3�4�2232,000�Btu/hr/row)�=�3.98�rows�=�4�Rows 

�

�

�
�
�

Step�4:�Chilled�Water�Cooling�System�
.��@����

���0�==������0�924,000�Btu/hr�
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��
����

������� ����!
����������������
���"�

�
�����

#�������$��%���&�'�!�(������

R �Rooftop�Unit�

�
�

� .��@����

���0�5*�������
� .��@�>���
���0�;)=� "��4$��

� .��@�����
��0�+;&+5���%��

� .��@��������0�,=&,+?��%��

� .��@�C���
����
��0�,�A�

� B���
�����
��.��������0�,1*�
��$���

� �����������
��.��������0�*1��
��$���

� �

� Step�1:�Casing�Size�
� .��@�>���
���0�;)=� "��4$��%����B��
��-�:5�Casing�4�
����
������
�

� Step�2:�Supply�and�Exhaust�Fan�
� .��@�����
��0�+;&+5���%������#������
�����
��.��������0�,1*�
��$���

� ��supply�fan�at�30�bhp�and�1150�rpm�
����
������
� .��@��������0�,=&,+?��%�����������������
��.��������0�*1��
��$���
� ���exhaust�fan�at�15�bhp�and�1000�rpm�
����
������
�

� Step�3:�Hot�Water�Heating�System�
� ����
������>����0�2+*���$����,1�3�0�84�Mbtu/hr�
� ����
������B������������
���0��)&***�"���4�251*�����,?&)==��%�3�0�2.63°F�
� Mixed�Air�Temperature�=�70°F�+�(0.25)(0°F���70°F)�=�52.5°F�
� Total�Winter�Heating�Load�=�;)=� "��4$��:��)� ���4$��0�563�Mbtu/hr�
� Steam�Needed�=�(563,000�Btu/hr)�/�21,193�Btu/lb3�0�472�lb/hr�
� Steam�Remaining�=�(,5?,1��
�4$�3�D�2)=,�
�4$�3�0�1721�lb/hr�
�

ooftop�Unit�A2:�TRANE
�
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���������
�������
�����
��
��
����

������� ����!
����������������
���"�

�
�����

#�������$��%���&�'�!�(������

�
�
� 6�����	��8
���B�����������0�F25&,?;&***�"��4$�3�4�2�**342�,?)����3G�H)�°F�=54°F�
� �TL�=�90°F�–�54°F�=�36°F�
� �TS�=�55°F���45°F�=�10°F�
� LMTD�=�19.5°F�(From�LMTD�Table)�
� Capacity�=�232,000�Btu/hr/row�(Coil�selection�chart)�
� Rows�=�(5&,?;&***�"��4$�3�4�2232,000�Btu/hr/row)�=�5.58�rows�=�6�Rows 

Step�4:�Chilled�Water�Cooling�System�
.��@����

���0�5*�������0�1,296,000�Btu/hr�
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�������
�����
��
��
����

������� ����!
����������������
���"�

�
�����

#�������$��%���&�'�!�(������

R t�

�
�
�

� .��@����

���0�),������
� .��@�>���
���0�5)*� "��4$�

� .��@�����
��0�5=&;5���%��

� .��@��������0�5�&��)��%��

� .��@�C���
����
��0�5*A�

� B���
�����
��.��������0�51��
��$���

� �����������
��.��������0�*1;�
��$���

� �

� Step�1:�Casing�Size�
� .��@�>���
���0�5)*� "��4$��%����B��
��-�:5�Casing�2�
����
������
�

� Step�2:�Supply�and�Exhaust�Fan�
� .��@�����
��0�5=&;5���%������#������
�����
��.��������0�51��
��$���

� ��supply�fan�at�11�bhp�and�800�rpm�
����
������
� .��@��������0�5�&��)��%�����������������
��.��������0�*1;�
��$���
� ���exhaust�fan�at�6�bhp�and�700�rpm�
����
������
�

� Step�3:�Hot�Water�Heating�System�
� ����
������>����0�255���$����,1�3�0�31�Mbtu/hr�
� ����
������B������������
���0�+5&***�"���4�251*�����5=&;5���%�3�0�1.62°F�
� Mixed�Air�Temperature�=�70°F�+�(0.10)(0°F���70°F)�=�63°F�
� Total�Winter�Heating�Load�=�5)*� "��4$��:�+5� ���4$��0�109�Mbtu/hr�
� Steam�Needed�=�(109,000�Btu/hr)�/�21,193�Btu/lb3�0�91�lb/hr�
� Steam�Remaining�=�(5=,5�
�4$�3�D�2?5�
�4$�3�0�1630�lb/hr�
�

ooftop�Unit�A3:�TRANE�Rooftop�Uni
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������� ����!
����������������
���"�

�
�����

#�������$��%���&�'�!�(������

�
�
� 6�����	��8
���B�����������0�F2�*)&***�"��4$�3�4�2�**3�4�2�,?)����3G�H�)�°F�=�48°F�
� �TL�=�90°F�–�48°F�=�42°F�
� �TS�=�55°F���45°F�=�10°F�
� LMTD�=�22.25°F�(From�LMTD�Table)�
� Capacity�=�232,000�Btu/hr/row�(Coil�selection�chart)�
� Rows�=�(�*)&***�"��4$�3�4�2232,000�Btu/hr/row)�=�2�Rows 

Step�4:�Chilled�Water�Cooling�System�
.��@����

���0�),������0�504,000�Btu/hr�
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���0�)*������
� .��@�>���
���0�55=� "��4$�

� .��@�����
��0�5;&��+��%��

� .��@��������0�5)&�?���%��

� .��@�C���
����
��0�5*A�

� B���
�����
��.��������0�51��
��$���

� �����������
��.��������0�*1;�
��$���

� �

� Step�1:�Casing�Size�
� .��@�>���
���0�55=� "��4$��%����B��
��-�:5�Casing�2�
����
������
�

� Step�2:�Supply�and�Exhaust�Fan�
� .��@�����
��0�5;&��+��%������#������
�����
��.��������0�51��
��$���

� ��supply�fan�at�11�bhp�and�800�rpm�
����
������
� .��@��������0�5)&�?���%�����������������
��.��������0�*1;�
��$���
� ���exhaust�fan�at�6�bhp�and�700�rpm�
����
������
�

� Step�3:�Hot�Water�Heating�System�
� ����
������>����0�255���$����,1�3�0�31�Mbtu/hr�
� ����
������B������������
���0�+5&***�"���4�251*�����5;&��+��%�3�0�1.73°F�
� Mixed�Air�Temperature�=�70°F�+�(0.10)(0°F���70°F)�=�63°F�
� Total�Winter�Heating�Load�=�55=� "��4$��:�+5� ���4$��0�86�Mbtu/hr�
� Steam�Needed�=�(86,000�Btu/hr)�/�21,193�Btu/lb3�0�72�lb/hr�
� Steam�Remaining�=�(5;+*�
�4$�3�D�2=,�
�4$�3�0�1558�lb/hr�
�

ooftop�Unit�A4:�TRANE�Rooftop�Uni
�
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���B�����������0�F2)�*&***�"��4$�3�4�2�**3�4�2�,?)����3G�H�)�°F�=�48°F�
� �TL�=�90°F�–�48°F�=�42°F�
� �TS�=�55°F���45°F�=�10°F�
� LMTD�=�22.25°F�(From�LMTD�Table)�
� Capacity�=�232,000�Btu/hr/row�(Coil�selection�chart)�
� Rows�=�()�*&***�"��4$�3�4�2232,000�Btu/hr/row)�=�2�Rows 

�

Step�4:�Chilled�Water�Cooling�System�
.��@����

���0�)*������0�480,000�Btu/hr�


